Subject: Re: chap 9 reproductive health
Posted by Janet-DHS on Fri, 14 Oct 2022 20:30:35 GMT

View Forum Message <> Reply to Message

Following is a response from DHS staff member Tom Pullum:
There are various ways to do this. Here is one that has minimal modification of your code:
scalar b19 _included=1

capture confirm numeric variable b19 01, exact
if _rc>0{

*p19 is not present

gen age =v008 - b3 01

scalar b19 included=0

}

if _rc==0{
*b19 is present
gen age=b19 01

* Check values of b19
summarize b19 01

if r(sd)==0 | r(sd)==.
replace age =v008 - b3 01
scalar b19 included=0

}
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